B £ K £%F
1 |[=RO0 44 $ 600,000
2 [=RO044 $ 200,000
3 |EAAIETF AP $ 110,000
4 0044 $ 100,000
5 @A gggas $ 100, 000
6 |[HkROO0O42 $ 100,000
T |2O0&44 $ 50,000
8 [#OO44 $ 30,000
9 [ROO |4 $ 30,000
10 |5%200 -] 4 $ 30,000
11 sl ¥ $ 25,000
12 30044 $ 20,000
13 |28 K> KT EmpG 7 $ 20,000
14 [#EEFag $ 20,000
15 [0044 $ 20,000
16 #2004 $ 20,000
17 A= FALR 7 o P $ 20,000
18 (2004 $ 20,000
19 |zdFR%SEEF AP $ 20,000
20 |30 O] 4 $ 20,000
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21 |00« $ 20,000
22 [#HO0L2 $ 16,000
23 HRO0OL2 $ 10,000
24 B EEIKIZF AP $ 10,000
25 [MOOL2 $ 10,000
26 |BFHFERPF AP $ 10,000
27T OO0+ 2 $ 10,000
28 |00+ $ 10,000
29 |4% 3 FrEFLE $ 10,000
30 |[EPa&FF Ao $ 10,000
31 [2O00x2 $ 10,000
32 |z hFria $ 10,000
33 |#mO 014 $ 10,000
34 00« $ 10,000
35 [mROOx2 $ 10,000
36 [®#00+2 $ 10,000
37 [mOOx2 $ 9,000
38 [mOO] 4 $ 7,000
39 [mOOx2 $ 6, 600
40 |[£37 THRTEYRR S $ 6,000
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AR = 27
A1 |~ BFE TR 2 $ 5, 000
42 |HOOAA $ 5, 000
43 ;70044 $ 5, 000
44 [EO0O0x 4 $ 5, 000
45 OO0+ 4 $ 5, 000
46 |5 OO0 |4 $ 5, 000
NEEE T $ 5,000
48 |2 PR E A $ 5, 000
19 |gLs%m $ 5,000
50 |3 B 3 fA $ 5, 000
51 [de1gmpgans $ 5,000
52 (M a5daae $ 5,000
53 |2 004 $ 5, 000
54 |#R0 O] 4 $ 5, 000
20 |FRO0 O] 4 $ 3, 600
56 |&% 3 &4 1 Ry $ 3, 600
BT |~ A F RIL»F L& $ 3, 600
58 |E 3B T § 1 e $ 3,600
59 |2 3. % A $ 3,600
60 [#fOOx2 $ 3, 200
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EL AR L3E L343

61 Zggif‘ 3, 000
62 [#OO %2 3,000
63 [5RO0O 44 3, 000
64 [HOO 44 3, 000
65 [200 )4« 3, 000
66 (370044 3, 000
67 [+ s> FRiL2mird s 3, 000
68 |£ a7 frews M) 8 2, 000
69 |7 g g gyt 2, 000
0 |33 57 587 @] 8 2,000
7N 237 79 RAARN | 2,000
72 |44 T RFERN] S 2,000
3 |44 TYRFERN ]S 2, 000
74 |E g E 1,200
B |mO0O44 1,000
6 |[mOO44 1,000
T |33 8° Rz R ] 8 1,000
8 R2EF2 FEFERESR 1,000
79 (#0004 1,000
80 |M=zampmre g 1,000
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8l |23 AP RAFERN|F 1,000
82 |37 32 RUETRA | F 1,000
83 |&wd 2 kEF B H 1,000
84 | #d F2EP R o H 1,000
85 |[4a s ERFHd 1,000
86 | =P =+ %3 %P8 1,000
87 |4 FrE® X WA | 8 1,000
88 |1 a7 BB FRRIRN]H 1,000
89 |22 FrEwiebRA ] & 1,000
90 |£4% THRP YRR H 1,000
91 |£37 - NEFR ] F 1,000
2 |[ta? 3 LREARN]HF 1,000
98 |Ee 3 FEwirHRN]H 1,000
94 |30 0O & 500
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